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11.

12.

13.

14.

15.

1 6 .
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26.

27.

20.

29.

30.

31.

32.

33.

1) Input/Output media 2) Data entry

3) Primary storage 4) Input media

lunl5dluu’o~aolnmrJt~~t~~n  rn~QJliu~n~~~rjr~R*n~~~lu~Q~~~lnrn~d~H8n

1) &t: character 2) ?iaxAon 3) hxafmia 4) Gwwnu  9 YR”Qn

u’ol~t0uu’oriouQJtn~tt~~~~n

1) ln”llu”o~R~~~Qu 2) ~u’Rlulandlu~Q~R~uln~~~~a~

Qll¶J$l

3) ~&Vl%Jl~n~~l~U  Output media 4) gnqn&

‘LUnl~lJ’uCinu”o~~~~~U~~~ll~l~~n  u”nl&Q Unblocked record

1) blocking factor = 1 2) blocking factor 21

3) blocking factor) 1 4) blocking factor33

1lUllt.ilHh 1 9$ 6 11th  TI~~~lu?ur?d?lU (surface) ti~%%in  u’o%$-+%

1) 6 2) 8 3) 10 4) 12

b4~@RkMl’lUluilH~Tl  (disk pack) n’l4&iUV&l  7 liQ%rl~  260 llVl3fI (track) %%%&TIQ¶J

&b&lf%ALQQ~  (Cylinder)

1) 100 2) 200 3) 400 4) 000

BPI  (Byte per inch) ldU(n~?~~~~?l~wull~~u~QJnl~~u~n~Q~~~J~U

1) &IS  IBM 2) tnArJruA”n 3) wuttU’tv& 4) Qntns$
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41.

42.

43.

44.

45.

46.

47.
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51. th4k%lTlh8~t(  (CPU : Central Processing Unit) uoJ~oUft3toloSt~itl~~~~~

1) ~5XlYlf?iJ&~J  5 VDJflW 2) ATa707n?5&nJoonu7

3 )  IUOJVOJclU 4 )  ~nyyik

52. Fixed-word length computer &.I5XlLMfl8J~?Nl0~~~

1) ilU?U~lJ6  (byte) flJdll7ti~l.A  1 flLI%Jfij?Ml0~  word %I 4 ILlA

2) ilU3U\L6  (byte) flJdnllJ’lU 1 flW.lfi’XVlQ~  word kl 0 ‘llJ6

3) ilU?U  bits “JdXNl’lU  1 fKlIJ%XMl~  word %I 32 bits

4) ilU?U~lJihJih  1 fMJ%XVloi  word
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53. “oxlft?LcloiLngo~~a~~~~~~~~~i~~~n~U~~  16K word L% 1 word a 32 bits Vi%-

4 bytes LLG 1 byte g 8 bits fNl&Jff?LVKl~Lnf6J~

1) lCij  bit TlJWJCl  L: 16 x 1024 x 32 bits

2) 9:; 16 x 1024 x 4 bytes

3) 1:; 16 x 1024 x 4 x 8 bits

4 )  qn~nyy0

54. f?lYOJ  Parity check bit

1) 1:&L 1 i7H~~Bo’nu3rlnAdLn”~~U~~~~  Even parity check

2) 0:&L 0 ci7H~~Rio’nu3rrln~~~L~~~U~~~~  Odd parity check

3) ?:t&.L 0 H%l 1 ~~il?:~h:lfll  Even parity check M%lXUlJ  Odd parity check

~~~t;rod~~~~~n~~~~~~~~~

4) ?cLilUAt5~oc~GIi  t&LdIflwg~~nuo~tg~  i IwsY~n’?o’nuxI~  9 thtw~nia
tW~‘lUXlJIJ  Even parity check M%3:Llll  Odd parity check nlUL%lJ

55. &l~NLYlULRll  7 ~Unl~tn”llXlJIJ  Even parity check

1) 1000111 2) 0000111 3) 1010111 4) 0110111

56. n75~5cu?RurJY’oyAn’7”t”~6~~6~~~t~6~  G&ixJxnounR’n  3 ~+x~ffo

1) Hardware, Software, Peopleware

2) @ii  Computer, Software, Peopleware

3) Hardware, Program, Programmer

4) $2 Computer, Program, I/O  devices
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1) 2”-1 2) 2"-'

69. One's complement VflJF  ~1010100) 2

1) 101010 2) 110010

70. (196),,  = (I),

'1 100011 2) 11000011

71. (196),.  = (71,

1) 403 2) 340

72. ('58),.  = O),,

1) E9 2) 9E

73. (1100101),  = O),,

1) 90 2) 91

74. ('AE),,  = Vi,,

1) 431 2) 430

4) 2"+'

4) 101011

4) 11000100

4) 430

4) 149

4) 101

4) 403
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75. (2261,  = (?I,,
1) 150 2) 15 3) 510 4) 105

7 6 .  (317),,  =  (11,

1) 1472 2) 1724 3) 1427 4) 1247

77. (7556),  + (646),  - (5731, = (71,

1) 7613 2) 7136 3) 7361 4) 7631

70. (IEF),,  - (FBI,,  = V),,

1) F4 2) FO 3) 4F 4) FF

79. (lOOll),  + (lOlOl),  - (lOllO)*  = (71,

1) 10001 2) 10011 3) 10010 4) 10100

00. (3501),  x (15)* = 01,

1) 57105 2) 57115 3) 25606 4) 25660

81. y’o~“d~d~$tR~ilu?Ut~U~lU  8

1) 1236 2) 765 3) 3465 4) 6726

8 2 .  (764),, th4h7XlU  BCD &I

1 )  111110100  2 )  0111011001003 )  0010111111004 ) 011111101

83. ~U~l~t~~Uu’~~~U~~~~l~~~~t~l~~~6~~t~l/6D~  (Input/Output data) UlhI
I

1) n7~ri7#u~~uroJ~u~~~~~~n~~  (Initialization)

2 )  nl~ilu7~~u~uuuoJn7~~~~~~~~~~*~~  *

3) ndm4~o”orj~~inAn~i~ 4) ppyy0

84. rriiioJni3U’Yi7u?u~n~n~l~~~  (SEX = 2) fmt~?noicr~ani  (FAC  = 5)

t&Iv i t~oulut~onr?llnr~nnunreR’Jnsj7?to

1) SEX = 2 LLAZ  FAC = 5 2) SEX = 2 Hi6 FAC = 5

3) FAC = 5 H%l SEX = 2 4) +.I 1 #iO&  2

85. Y’ofmulqnh

I)  H’JT~~un~uR=tl’ouc~aun~i~~~~~ 2) H’JTrJ7un~uAtiouclu7nn~i~~~~~~

3) t~itiiuuu’JT~lttn~run’oulforcH’J 4) R’ry~n3nuriid’Laruni~t~u~~~~-

I’YLI unruuR=~~~=uutndou~un~~
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95. BASIC $0
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hhhn~iioids 101-106
ol”~~IJ,unrur~an,~l~~~~~~~l~a~

s = (1 x 2)-(2 x 3)+(3  x 4)-(4 x 5)+.....+(9  x lOI-(10  x 11)

( S T A R T )
1

r A
A

I

1 B
1

I

I c 1
I

I D ]

yes

103. hl3lU~U  block C ii0

1) S = S+N(N+l)+(N+l)(N+2)

3) S = S+(N+l)(N+2)

104. hmuh block D $0

101. +BfrYldU block A ii0

l)S=  - 1 2) s = 0

3)S=l 4)s= - 2

102. %lfl?lU~U  block B ii0

l ) N = - 2 2)N=O

3) N = 1 4) N = 2

2) S = S-(N+l)(N+2)

4) S = S+N(N+l)-(N+l)(N+2)

1) N = 1 2) N = 2 3)N=N+2 4)N=N+l

105. #hlfl3lUb4  block E ii0

1) N L9? 2) N>9? 3)N<97 4)NI9?

106. &tR?lUb4  block F ii0

1) s 2) SUM 3) TOTAL 4 )  qngnu’o
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107. h-dpd block A kQ

1) CODE = 99999?

3) CODE (999997

108. ~Q+T-JlUb4  block B #Q

1) TSAL = TSAL + SALARY

2) TSAL = SAL + TOTAL

109. “iQfWJh  block C !Q

1) TEXTRA = TOTAL + EXTRA

3) TEXTRA = iEXTRA + EXTRA

110. u’ofl-dl%Jth  block D ;Q

1) INCOME = SAL+EXTRA*  12.0

3) COME = SAL+EXTRA*l2.0

111. u”otl?lU~U  block E ;Q

1) COMEI30,000?

3) COME >30,000?

112. ih’2lUb4  block F GO

1) TAX = (COME” .7)/12.0

3) TAX = INCOME* .07

113. ihWJh block G 80

1) INCOME160,000?

3) INCOME>60,000?

114. ~QWJ1Uh.i  block H ii0

2 )  CODE>999991

4) CODE = O?

2) TSAL = SALARY

4) TSAL = TSAL + SAL

2) TEXTRA = EXTRA

4) TEXTRA = EXTRAMONEY

2) COME = (SAL+EXTRA)*  12.0

4) INCOME = SAL* 12.0+ EXTRA

2) INCOME%30,000?

4)  INCOME;s30,000?

2) TAX = (INCOME” .7)/12.0

4) TAX = (COME* .07)/12.0

2 )  COME<60,000?

4 )  COME>SO,OOO?

1) TAX = (2100+(COME-30,000)“.01)/12.0

2) TAX = (2100+(COME-30,000)‘.1)/12.0

3) TAX = 2lOO+lINCOME-30,000)‘.01

4) TAX = (COME*.1)/12.0
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115. lhfl-dluh block I do

1) COME=  I OO,OOO?

3) COME  > 100,000 ?

116. ‘%Wl’-dlU~U  block J &I

2) INCOME >l  OO,OOO?

4) INCOME I1 OO,OOO?

1) TAX = EilOO+(INCOME-60,000)“.13

2) TAX = 5100+(INCOME-60,000)“.13/12.0

3) T A X = 5 100 - ( C O M E - 60,000) l .1 3

4) TAX = (5100+(COME-60,000)“.13)/12.0

117. ‘hl-dl%J’lU  block K &I

1) TAX = (10,300+COME*.l7)/12.0 2) TAX = 10,300 + INCOME*. 17

3) TAX = (10,30O+(COME-  100,000)*.17)/12.0

4) TAX = (10,30O+(INCOME-100,~,0)*.17)/12.0

118. ‘hcI?%J~pb  block L %I

1) TTAX = TAX + TTAX 2) TOTAL = TOTAL+ TAX

3) TTAX = TTAX+TAX/12.0 4) TTAX = TAX112.0

119. u”ofWUh  block M &I

1) NUMBER,  NAME, SAL, EXTRA. TAX 2) NO, NAME, SALARY, EXTRA, TAX

3) N, NAME, SALARY, EXTRA, TTAX 4) N, NAME, SAL, EXTRA, TAX

120. lhfl11Ub4  block N &I

1) TSAL, TEXTRA, TAX 2) TSALARY, TEXTRA, TTAX

3) TSAL, TEXTRA, TTAX 4) TEXTRA, TTAX, TSAL
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1. 3 25. 3 49. 2 73. 4 97. 4

2. 4 26. 2 50. 2 74. 2 98. 3

3. 2 27. 1 51. 3 75. 1 99. 4

4. 2 28. 2 52. 4 76. 3 100. 4

5. 1 29. 2 53. 4 77. 4 101. 2

6. 1 30. 1 54. 3 78. 1 102. 3

7. 3 31. 3 55. 1 79. 3 103. 4

8. 3 32. 2 56. 1 80. 2 104. 3

9. 4 33. 2 57. 2 81. 4 105. 2

10. 4 34. 3 58. 1 82. 2 106. 1

11. 4 35. 2 59. 4 83. 4 107. 1

12. 2 36. 4 60. 2 84. 1 106. 4

13. 4 37. 3 61. 1 85. 2 '109. 3

14. 3 38. 4 61. 2 86. 4 110. 2

15. 3 39. 1 63. 3 87. 2 111. 1

16. 4 40. 2 64. 1 88. 3 112. 4

17. 2 41. 4 65. 2 89. 2 113. 2,

18. 1 42. 3 66. 3 90. 1 114. 2

19. 2 43. 1 67. 2 91. 3 115. 3

20. 1 44. 1 68. 3 92. 1 116. 4

21. 1 45. 3 69. 4 93. 2 117. 3

22. 4 46. 2 70. 4 94. 3 118. 1

23. 1 47. 2 71. 3 95. 3 119. 4

24. 1 48. 4 72. 2 96. 1 120. 3
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